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June, 2020
MEC-103 : QUANTITATIVE METHODS

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as

directed.

Section—A

Note : Answer any {wo questions from this Section.

20 each
1. (8) Explain the underlying idea behind linear
programming.
(b) Solve the following by simplex method :
Maximize :
z = 3x + Txg + 6xg

P.T.O.
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subject to :
2% + 2x9 +2x9 < 8
X +%Xy £3
(xl,xz,xa) 20.
Explain the concept of integral. What are

its applications in Economics ?

Solve the following :

J'(4x3 +7x + 3)dx

What are the properties that a probability
distribution function must fulfil ?

Bring out the salient features of standard

normal curve.

Explain the concept of mathematical

expectation. What are its properties ?

A box contains 4 white and 6 black balls. If
3 balls are drawn at random, find the
mathematical expectation of getting white
balls only.
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Section—B
Note : Answer any five questions from this Section.

12 each

5. What are the Hawkins-Simbn conditions in
input-output table ?

6. What is Cramer’s rule ? Solve the following by
Cramer's rule :

) %~ 2% =3

7. Solve the following Herrod-Domar model :

SH=I®

S @y =sy (¢)
-,

I =v 2

O<s<1l,v>0.

8. Explain the concepts of sampling distribution

and standard error.

9. What is meant by Rank Correlation ? Tllustrate

your answer with a suitable example.

P.T.O.
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10. Explain, how a two-tailed test is carries out.
11. Describe the properties of a determinaﬁt.
12. Write short notes on any two of the following :
(2) Cramer-Rao Inequality
(b) Kuhn-Tucker Theorem
(c) FEigen Vector

(d) Continuity of a function
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A
z = 3x; + Txy + 624
whrafa 2
2%y + 2%y +2x3 < 8
X +%xy <3

(x1,%9,23) 20,
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wwwmmﬁﬁm:
X —2x, =3
3% + 5xy = 20
7. ﬁﬁ%ﬂiaa'%va—zﬂmuﬁnmaﬁwﬁﬁq:
| SO=1@ .
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dt
O<s<l,u>0,

P.T.0.



[e] MEC-103
§. Wfawe omEer R W e I W wwewnd

RREUER

9. TEN WewErY W w of § ? Uw SUgw
I 1 TAM HT A IW H WL Hifow)

10. ey foF o fg-7sdia wliew $9 fea s
?

1. T ‘P’ st F o Fifg

12. frafafaa 4 ¥ fodff at w wfaw feofel
fafan -
(%) HW-Ta forafim
(@) HE-<F W
(M) s aRa

(9) TF woR ®f daaar
MEC-103 | | - 4190



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

